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John told thelitleboy he won  the prize. My brother won the Ioﬁery
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The professor devoured his sixth peach with gusto
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Simple Present Tense b Ja e

g a0l a8 e alad) Jana g (e IS A AS lab 2 g Gl e Ol Cl )
_d@bégﬁ\ﬁgﬁwdﬁau&e‘yﬂLg\ﬁu\dﬁuael.m'\JMAmj& cida by Jad il
125 o e ) S Ay SaS Jad 35 g ads gl (S Aa by ) g 61

They play . Do they play ? They do not (don’t) play.
He plays . Does he play ? He does not (doesn’t ) play .

b pa o) ALy (0 S Al b g g J28 lad ) SaS Jad aga g G a0

They are happy . Are they happy ? They are not ( aren’t ) happy .
She is rich . Is she rich ? She is not ( isn’t ) rich .

DN (gl Jad g il 3 g S hiae gadd g ga JelB)Jeld (gag Alad 3 o (1 e S) ;S

To listen .......eeverrenenen. Listen ! To wait .............. Don’t wait !

Adverbs of Frequency el ) S slaad

Ohaa O LA e paddia |y b g ghg Ao aal Jad) Jib g SaS Jab ) aay (8 8 ) 8 L s o)
PO Gl Gl i aa 4 U iSlan ) gl g By An ) i la AT 4 g3 gl

always / usually / often / sometimes / seldom [ never
............................................................ gl e ol ol i ) Ghd celu a4 Ll =)
Callgd e ) Gilh g AABLUS 3 gIT =Y

A pladl Alaba 1 S K e Ledi =Y

.............................................................. S ot Alilae dad b g i ) o LA g5 =0
.............................................. aIN) oo e s MUJJJQ&}AUA&;Q@J\@G&,.:?
....................................................... AiS oo W Allie dan 5 e |y g3 Gla) WIS L =V
A Adas AS p € e ddisad gl =A

........................................................ S JAS ) agh e )y o) AS (B 08 A =4
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Simple Past Tense ol ALEXE 1yl

b pa o) Cud 02 alad (f aladl g 0203 (5 9 ABE fla) 3 AS ad Gl o) e ) )
g (Al sm 610 28 (o i pgea 2o LA (O Ay At o AS (g gheadly (Bildaa (e ) 0 Jad
135 o JaB ) gy Ag ddan pd SaS Jad (18R ) g ja (e (3 00 i ua Blaa (3 S e

She arrived early. Did she arrive early ? She didn’t arrive early .
They slept here . Did they sleep here ? They did not (didn’t) sleep here.

194 e ol Adan 038 Al g () 1 SaS Jad Glad () Alaa 3 SaS J2d 3 ga g G e

They were on time . Were they on time ? They were not (weren’t) on time.
He was a dentist. Was he a dentist ? He was not (wasn’t) a dentist.

...................................................................... a8 S ) ) edS AL Jlu LT L =Y
....................................................................... pala il )5 B & gl 5 983 ABEK sla =¥

.............................................................................. pid S jla g g )y gl Sy =Y
A G Sy 99 1 QUS Gl Jgy Ladi Ll =¥

......................................................... £33 S
g RS A QLS 3 A o) g (e =0
................................................................ b i

Verb Phrase Reduction o 4laa dzd o9 £ (halsl 4ildia 4laa g2 oS

b 09 8 ) S s oSsla ()0 AL N sA L Glasad ad 5la 09 8 ) (s ad Alad 93 4SS a0

1S cida )y agdadey adog & gl Alaa rbog KAl By ) sla Adgal dlilad (55 e Ailiia
e sl Adan (o) 1 )

, and subject +auxiliary +too , and so + auxiliary + subject

and.... too : He worked here./ | worked here........... : He worked here and | did too.

andso.....: He worked here and so did I .

hie s Adaa gl @
(,and subject +negative auxiliary+ either ),(and neither +positive auxiliary+ subject)

and ... either : | won’t go./ He won’t go. ..........c...... : 1 won’t go and he won'’t either.
and neither ....... : | won’t go and neither will he .
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oshixa aa Ll . L9 EOkdan Ay 3 b Ladi =

................................... Jshisad ab gl L A Cud G 1) S G Ladi I A el ald (e =¥
...................................... Jshinad Al e, S e SO 1) U sla ) g i Ll =0
Simple Future Tense ol o2l (e

g o0 BB A dla Ola) ) g e Lal oalidd (5SS gn AS el Dy g ) il ) O C) )
PGl ) S A O O3S e g (g O 9 Gl gy (A JgiNie 3 gd e 0l
will/shall + infinitive without to

They will come soon. Will they come soon? They will not (won’t) come soon.
She will supportyou. Will she supportyou? She will not (won’t) support you.

Pl g )OS A palyl e il 3y i alad) bl 53 9 £ 9891 G B b 2y g AS L gea
be going + infinitive

He is going to stay . Is he going to stay? He isn’t going to stay.
You are going to leave. Are you going to leave? You aren’t going to leave.

DAy S A oahl e il 2 3R cra Ay da gL Al g5 e G ) SaS sl b -
can , may , shall

.......................................... LA A Gl QUS S anl gl =)

............................................ QS S g S ol djaliaa 3 138 Cud (Sean gl =Y
................................... Agd Jgum Alluia )3 ool A%8A Mg e laali =Y

............................................. S ia) gAS b ga 0 f 9 () L ) =¥
TS SaS Ladi 4y ddinea O Ja Jd 308 dad o) U =0

Future Continuous Tense @)l pail Gla

_&JCJQM\J‘}LA‘ 03l (5 9 oA AS Cuud bd@‘)d#ﬁu}#\;)ﬂme@\ﬁ&&h}&‘
Pl ) e b Gilaa OF il (g (n S Jglaia
Will / shall + be + verb+ing
He will be flying to London tomorrow this time .

Will he be flying to London tomorrow this time?
He will not (won’t) be flying to London tomorrow this time.
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............................................................ 293 ash) A (A1 gA (ud Jla 3 AR ja 1) S alad lad =)
............................................................................... Ao AR A ol L 0a S Guan Jla 3 138 Ll =Y
................................................... 351 4155 (s (oSl Jla 3 hpa cy) 0241 Al | il 45 LA =Y
................................................................ €353 381 63 2SN () 43 Jreand Jla a oald ola ) L =¥

............................................................. 39 Al gA0 Sy ol 3 B8 Jla o K0 sl sla (e =0

Present Continuous ¢kl Jia ol

o e o Ay ) A gy G931 Jad (g ) paiand <y gaa, Jab alandl o (Kl gyy iny ) paiead
W90 (o8 NS A Jla Gha 2" Al Cpad™ ja 3 ) Jed Sy i alad) Gl ) s ) i) Jla Gl -
WS e G dsa B b illae O S (Ala by (gm0l pan (e () il

am / is / are + verb(ing)

They are walking . Are they walking? They aren’t walking .
She is watching TV. Is she watching TV? She isn’t watching TV.

gl a1y W diB e AR JadT i Ll =)

............................................................................ $ LS e A Ay 3l Ladi U =

UA&AQOSJ#QYOJQJAﬁJ\éYIAMlA:?

............................................................. S
....................................................... ol (AN alad) Jaw s S g alad) J gidia g) =0
Tag Questions SIS 2l sl Adaa 4d

W Aden dad Gl 58 e 18 o d Alad AUL (S 0 AS ATl gl () g e JES o Y
) oaian JuSCiS palic | AUS UK fanli ) ) o)) AS Alia (o) Alay dlialia G gy e b Cufia i
iy Ay ol pa (i) U i)ty e SaS i 1 51 e

The woman didn’t get angry , did she?
The children won’t make noise there , will they?
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¢ ol johaldl L. MJL’ALﬂﬁJQi‘Q.\JL\J\=\
........................................................... T A 8d,, 00 S Guaua ol b udud Sl A g S =Y
...................................................... ¢ € aialgd, | cud€ A gA 5 3 ) Ay g8 Ol A=Y
................................................................................. Caeatl,..... Aok 65 Chaugd (pa =¥
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Past Continuous ) i) 4SS Gla )

(ol 0 e Ea led (03 (69 L ASa gy a8 Ay AL (e lrd aladl 8 ra () ) O
D agd o alad) ) gt b o il
was / were + verb(ing)
I was walking when | saw him.
While he was studying, the man came in.

Agd a aladl Alan 3 gA SaS W Jad ) ol U e Gl 3 0k e Adan 3 S Ala by ) g

They were running. Were they running? They weren’t running.
She was laughing. Was she laughing? She wasn’t laughing.

.......................................................... 2 AL AS 3313 e il g L Jl g 4y A& L] =)

................................................ A g (B AS 38 e a K ) (IR L] g gy i =Y

....................................................... 13 S adad | 8 A Ladi 38 0 Cuma iy g =
............................................... L a9y ) Aall sl Al e (3L 3 g Sl ASuad =¥

............................................................... B8 Glalia A4S g (38 Ul Jlas Le =0

Verbs Along Verbs In A Sentence ddaa 3 Jlad) aaas

IS 4 L) dan ddan )3 Jad g ) Gl 52 g ol Jad S () 10 BB pundK) 0 dlan 8
D) ) g 2SI g AS rd L (ildae Jlad) (b (s pae JSG i S 4 siae

| want to stay here. : Sixnd o to b sdae 253 5) G (b Cdaa dad (pinad 9) Jladl Jis) —cil)

to Listaa S 4y Jada gl J sgaa Adan O 8) Laltipdy o0 tO0 S Jieda 368 Slang Jlad) A -

He made me stay. | was made to stay . HEYSRP I L
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DAl e e anl S Ay 1) 368 ) dr Jad — ddlal Gig e Cpinad 9 — bl A g

I don’t mind waiting . | am fond of swimming.
........................................................................... S Bl gl Gl d b K avaal =)
.................................................................... S a0l Gl 03 ) b oI Cuga =Y
.............................................................. Al aleMe (i gh il Ll 4 L) =
s 1) G AR 2 g0 3 a0l (e Ay gl =¥
P N N I I psd

....................................................................... pEYEY
Simple Present Perfect Tense AR pala — sabu JalS Jla e

b g oadid JalS jeia Jla glaj U Lal o ST A3&K tlaj 3 Jad alad) 4S cul o Kby (e O
DS a5 9 ) sieed ) SeaS Jad ) ool b o cdle, cad Ly e b s gla e ¢ alad) )
have / has + past participle

They have lived in this apartment since 1998 .
Have they lived in this apartment since 1998?
They haven’t lived in this apartment since 1998.

She has worked there for ten years .
Has she worked there for ten years ?
She hasn’t worked there for ten years .

.............................................................. pl ol g Ly 02NN (il 3 Gl Sl 92 1 =)
............................................................ Tl 038 (g et gl Ly AS Cul (gl it L =Y

.......................................................................... Co) 03 g Adlid ga 0 ) o Lad jlid ) =¥

................................................................ padl 838 (5 4L 15 Ll ygal ol ja Y gara e =¥
................................................................ &) ALEIBE L ) 1y A Jseal K a Ll =0

Present Perfect Continuous 6 i) JalS Ja ola

A0EXE la ) Ja Jad a1 59y ST AS Cal o JESULLS JalS Jla la) sl duadld il b ola Cp)
D ol A9 g0 g A g JSd A Jla e U O 3 Jals
have / has been + verb(ing)
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The telephone has been ringing for one minute .
They have been negotiating since two o’clock .

............................................. Cual 0393 (33 S L Jlan )3 Al g () g3 AS ol b S 9 =)
..................................................................... A oo SO plde AS Coi ABBY g1 o5 =Y
.................................................... e (38 Gy Jla o Adlg 00l g el ) Ladi =Y
............................................................. 20 ol A Ad g 3 AS o) el S L Ul =¥
................................................... Al (s il cililata) (gl Ay o A3EXE ol =0

Simple Past Perfect Tense Loy ol — oal JalS ALEXK (e

g S ad alad ) 5) g AL (e OF aladl AS a9 (e S 4 o8 2 g Gl o) Ola O
18 Cga ) st b ilae Sl Jad ) ealiiad U (e Ol e, Ca) 438 £
had + past participle

They had learnt English before they went to Canada.
Had they learnt English before they went to Canada ?
They hadn’t learnt English before they went to Canada .

............................................................................. pd gy 03,93 aldi a) iy 4SS ) J =)
......................................................... 35 AL (il 93 4y a5y 0281 ) ASS] ) aay =Y
............................................. 53,93 03,50 i pata (e by TS 0S5 1) Ll ASST ) 08 LedT =¥
..................................... T3 S £ g 1) IS 23 S i) ga 0 59 by el AT ) any Lada U =¥
.................................................................... SR 133 ) Al ) Adulal O ASTT ) aay =0

«
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L

Past Perfect Continuous 6 i) Jals ALgaS oyla

438X e Ja 28 a8 590 AS Gl G Kbl JalS ALEXR la ) W daadld il b gla )
Dl 025 ABB g (49 g Al gy IS Ay S50 Jad g gy (e U (O i JalS
had been + verb(ing)

After she had been cleaning the rooms, the guests arrived .
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.......................... Taia g3 00 S I G Jgg (potaush 49) A 1) Cpdile O ASTT ) Ji8 L) =)
....................................... 2 BB Ay 3 g3 438 8 A ) (5 5120580 Ag) AST ) aay =
................ Aiad Juaadl) g 203 g3 0ai) g (a3 2SN (il 3 (p902a sk 4g) Sl g2 A4S Jlany =Y

........................................ a5 02 )5 (i pal (psha sk 4g) pgidi o 1y 0 sk ASTT I S8 =¥

........................ L g3 038 Caaua g) Ly (aghiaysh 4) Ladi AT larg 3 S ) e Ladi by juda =0
Simple Futur Perfect Tense sl JalS saiif (yla

L Gilaa (la) ¢l Sl sl oyl Gla o Jud S alad) Gad JalS A Gl ¢l e Gla) Gl A S
18 e Syga ) dsa st
will / shall have + past participle

They will have finished the building by the next month.
Will they have finished the building by the next month?
They won’t have finished the building by the next month.

................................................................ Cuaf 038 alad |y il S @B ga (il 122 U =)
............................................................ ol 035 Jpuandl) £ B sLELEHN I ol J 5 =
...................................................................... Gl 03 S by j3 | 5 dali gyl 13 8 =V
.................................................................................... Cuoal 00 Al Jy oa4f ola =¥
............................................................................ i) 038 CilBa | o) oail 4dda =0

Direct And Indirect Objects Adaa ;3 Jgrda daad

dﬂn@dl&&ﬂth_M—Hﬁm#ﬁdﬁjﬁﬁmdﬂa—dﬁjé‘sbhuﬂgj‘u&ﬁ
ALl G S L o) pad i i Jgrda O ) a9 4ih K0 8 13K Jad ) amy ALalidly asliieea
| gave the book to my friend. 18 e IR

:AﬁJEgﬁﬁmdﬂaj\dﬁﬁh'A\dﬁd:\ag\Jﬁﬁumﬁd@@‘ﬂ&é@jﬂ\)é
| gave my friend the book.

e Saa glala g 438 IS Ay atins g Jgrda 4duad ask charge ,cost Jlad) ) s ;S
I asked him a question. / It cost me a few dollars. / He charged me a little.

9
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St (San bl g 438 1S 4y adiins Jgrda 44 explain to, describe to Jud) jlaay @ S
| described the scene to him. / He explained the lesson to us.

................................................................................. aldi g (o) dall 9l Ay G =)
........................................................................ QS Gl sl g ) o) =V
......................................................................... LA ¢ A Ladi ) Ll =Y

.............................................................................. a1y gaodl ) ) e =¥
.............................................................................. N2 7 s al g3 )y Adia gl =0
Simple Future In Past Tense ) A £ liaa — ol ALEXE 43 sail (e

W Jad 208 b Gla) Gl Sl Cad oall (e Jad Al g Juada) Gl ) e Gla Ol s
R e S ) s b il Sas
would/could/might + infinitive without to

They would find the answer to the question.
Would they find the answer to the question?
They would not find the answer to the question.

........................................................................ LA 1) Al giga O (ML) ) =)
...................................................... pdla e B A )y Ja O (ML) Ce cugadl o =Y
.................................................................. 3508 pai i ga Ladi |y (3104 Ll g =¥
.................................................. $ LIS el Ga b (Yladal) Jylpd o o Lad U =¥

.............................................................. S g plaRid LIS 4 1) g (4Ld) Le =0

Future In Past Perfect A il — oal Jals AEXK 0 sail Gla

S Jxd 25 08 b Gl () e, Cud A3EEE Gla) 2 Jad Ay g Jlaia) by ) ha) Gl A0S
S o gl ) s b (Billaa SaS
would/could/might + have + past participle

He would have eaten the cake .
Would he have eaten the cake?
He wouldn’t have eaten the cake .

10
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............................................................ Taia g 03,8 U Adad o) Lo Ll (Yladal) Wl =)
............................................................... L g 033 B o) A 1) Jgg O Led (L) =Y

................................................................ 358 035 U g Ay llaiel 3 g) (k) =¥

..................................................... g 038 ClBla (AAS Gy 3 1) ) e (Yladal) =¥

......................................................................... s 0 A 1) Jaa g8 O L (L) =0
Comparison of Adjectives And Adverbs  Lad gl b duglia

Pl e by e A (b dip by 92 Clpad 5) el Ly g0 sl (8 0 Sig Al
13 g oa oMl 33 Jgad D) lad (o) lla b pa sl e W (RhagAa e 3t
as (adjective/adverb) as ............. / the same noun as

This ruler is 50cm.  That ruler is 50cm.

This ruler is as long as that ruler. /  This ruler is the same length as that ruler.
My father speaks as fluently as your brother.

Gl ol o3, ol idin S0 (S L) and o Aldia (K3 SI(JR8 L) and o (Shgda i @
bacs b 0L g alan oo A8 JUALL Blad ) Cla 4S ) ga g3 (5 55 O3 QLA ()
a3 Ml Laa 98 ) iy Lig S e olaa 5o (o UALw Blad 3l AS J sy dg) Gy J) Akl
139 o0 ool agd
Jack is tall but Joe is taller than Jack .
German is easy but Italian is easier than German .

French is useful but Portuguese is more useful in Latin America.
Japanese is difficult but Korean is more difficult than Japanese.
Your sister studies more carefully than my friend.

Ailia )90 (sl Jrd ) slgamd dad s (Sodagda s ) (L) sl o (Bhisdai: g
U SLad 0515 (s i duadli (58 8 50 L e il (s 51 Dl ol U3 ) L
DA e e ) Cga
Jim is the tallest of all .
English is the easiest language .
Spanish is the most useful of all .
Chinese is the most difficult language .
He acted the most logically among the other members of the group.

............................................................................ Gl g 3 oL Gl K =)

..................................................................... ol g8 3l ) A s (g =Y
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....................................................................... Guad g8 (5 AL 010 ab (a5 Al =Y

................................................................. Gl Ladi et bl (£ 58 4 o) Sl ) =¥

......................................................... o) 88 (il Jd gl G S Rl 7 =0

..................................................................... Gl i ol LA o) 3 GLbd ol =7

.................................................................... Sl g5l ) ASadS (o o ga =V
Question Words (e s dals

i U0 s S 358 (5 siaad GERT g ma Ay An g8 L CK b AS Al ol AwlS oy sl AaS
SRS (a8 g 3 8a ) T A 1y Adad ) o b S )
ngqﬁg‘gaﬁajb.uj\wﬁgg\;ﬁu&ﬂblﬁﬂuﬁuﬁw—u}sﬁajw:uﬂ\

19 o g
The dentist fixed her tooth . ................... Who fixed her tooth?
The washing machine washes the clothes. .................. What washes the clothes?
A lot of coffee grows here. .........uuueuees How much coffee grows here?

(s g Adan () Ay BT 390 019 sl Ay (A O Gy ok AalS — K00 s sl s @
:éﬁwd\,&@é‘ydﬁ uﬂASda.éL.!o\JAA'UA; QTJ‘WJBMJEJA

She visits the patients . .............. Who(m) does she visit ?

He painted the wall. ................... What did he paint?

They may go to the office. .......coeeueuuens Where may they go?

We can begin the job in the evening. ................. When can we begin the job?

He will borrow your bike. .........cccceeueennee Whose bike will he borrow?

They prefer this picture . .....ccceeveeveenne Which picture do they prefer?

He should come to solve this problem. ............ceuuu.ee. Why should he come?

He has a lot to lend them. ..................... How much does he have to lend them?

They have some friends here. .........ccuuu..t How many friends do they have here?

She sometimes goes to the library. ............... How often does she go to the library?

It is ten kilometers to New York. ................... How far is it to New York?

They lived there for ten years . ........ccceu.ee.. How long did they live there?
....................................................... $ A o by W (g Gl A (oS A Y gara =)
...................................................................... € A e el S ) Gl (el =Y

........................................................................ C1,8 WA S0l cdgan =Y

12
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.................................................................................. ¢ LRI SA ga | Alna plas =¥

?ﬁ“‘)“}‘lﬁ‘&h:@

Sail 838 IS S ) it An Lgdl =R

..................................................................... Sallium A3 298 Ol ) Al By =V

.................................................... Tl 038 Ciged Alagaa 4y |y liiliaigs J) G Aiy =A
Correlative Conjunctions Al ab Loy i goa

b)) g — (pamad 8 hea g3 Adgad (5 —Adky ab 0l 93 (gl 3 (8 8 ) B Al ek bay) g e 3 Sles

SR e A e g flang 8 g0 s diga Gyl Sl RSy b Ll gl
(il ghla Alan Ll 02 gy cufla Jad g a (gl Ad dagpa b Adad a1 e slaall ab — )

neither ...... nor : Neither the boy nor the girl helped them.

They don’t work here. We don’t work here. { Neither they nor we work here. }
ol i g a Ol A Bagpa s Alad aline bt Gl saall b — @

either ......... or : He might work either here or there.

Jack studies here . Jack works here. {Jack either studies or works here .}

both ......... and : He is both rich and generous.

Jim speaks English. Jim speaks French. {Jim speaks both English and French. }

not only ........ but also: {He is not only rich but also very generous . }

Joe is a lecturer. Joe is a physician.{Jack is not only a lecturer but also a physician.}

139 S (ol e IS Ay Ale AalS (131 (g Al 12 8 8 Alaa (500 )3 (e () AalS B) ;S
Neither do | like to leave here. Never do they tell lie.

R S S 43 ) AS anild el g 4D g (e A4S =)

Lad) o ad g dibay Lady) 3 Ad o3l AdLadi =Y e g
Ledibb g ald (a B Jeld LW Y e STHg
G A Al Gl zoa L s A L=F 38 Al A (g LSar

Gt Gl ph g AS e SR alilig =0 e G} AL g
A Mg ald a5 Gelr BT AR =P e na THPEY
ASLy alead 35008 9} 3 A G =V e A Con g Gy s g O
e S B QW A L =M e ——— pUId ad Cuga )y o)
ad ) ASh o) G ASZS e S e il Ly ) ALy ) 5l
R T A 4 Caua Al
..................................................... Al IS 5l L 4l g A€ Cumua

Verbs After Wh Words (i gy W AlS ) ay Jad (S5

13
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QngdﬁdﬂdﬁgJ\ﬁW#‘suMSj\@ﬁj‘w@a&ﬂgﬁéJdeém\Mﬁ
M@Jﬁ&hu)éﬁéguﬂ\s‘51.5MA@.\JUAQ.J\J.\U.&.A#MS‘5\)\:(514.&3;_.\3)“_”15
s ) AL ) Adea U Gy e ld 4S

| don’t know what | should do now. ..........cueeeue. | don’t know what to do now.

A9 las Al e ) =)

............................................. plr 2 W AR Gy ) AdsSs pdld e La =Y
............................................... LS B |y o g Aa iy e Ladi L) =

................................................. M€ gia i As b A3 al L =¥
.......................................................... A5 A AS a gl S (e =0

Two Word Verbs ¢ AalS g3 sl Jad

Jadi Ay 4Bl (A Ky 9 Jrb Ky I b A8 gana 2 g Al gl quS i 4g AS (g) AalS g3 Jlad)
Al S ol Al el Gt Ao Ll £l ) re Al g ) Lagas gl glina g ALl (5213 ) B e ggda 4S AL e

DA e gl Ak ) 7 Ay (A 0 g (A0 10 09 8 9 4g 93 a9 Iy uuld
haa Jad ) AS Cand ABLS G Sy 9 Jad Sy W GuS 5l (g 028 JaKE pualis 1 A0S Tan (gl qu i -l

3 )R LSl G NI g el el (5 0l b g 0398 (AL
Examples: look for (8 saiea look at ¢S 8BS

oA JISUAS — a1 13 A (8T Lagas AS — AdL) 9}9@3&3@}\&%}'&‘:@3&\%@&%}'—@
2 8y 18 Ll laa A1 65 e d9ana ol WA 0 b g

Examples: puton (s write down (5 g

(110 ST ) T A K a5 RS 3 0)g O Jusa ar e e =)

[T 1) o I il palgd ) i Jlga celu B =Y
LT L 1) T S S iAol il =Y
(AKE OFF).vrveererrreeesrresesessssssessesssssessssssssesesasssssssens sk @l )1y gilly a8 (34 C) 2 =¥
(o 11T ) [ S 9 OB 4y g lai By 81 ¢ QAL ) 4 =0
(5 Te Q1T ) [ Olday 3 NG 5 g 1y O =F
(BAIK OVET) uveeeerreeeeeseeeeessesensssesssssessssssenesnsassesnssassssenns 38 asd) A iy hamy f 8 e =V
(lie dOWN) ceieeeeeeiircieere e i csne e e sse e e e s snr e e e s snneenaaas S 312 US55, Aed Adud S) =A
(PICK OUL) o ieeierece e e e e e adS il g )y Ll gy g ad S QAT ) Ll =4
(L] T piS Syl Al aliad) g g =V o
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[T 1) S o AR Bl a1 Gald O Al Jgh =) )
(serve on) ...ccovceciieeiircii e A G g Cra A Olsiy O 08 Glisge Qa8 S =Y Y
(take Place) «eueeeeireiiiiieeeerie e e s e e M F sd W) g Gl Al8a =V Y
(BEL OVEN) weerereeerierres e sneas padi adA K3 5aka e ¢ ) U a8 Joh atia Sy =) F
(I00K OUL) c.eveeereeeeereeeeere et OS g 038 ) (b W a0 ) il ga =) 2
(€t BACK) ..vvereerrirrrreiiiisneeee s snse e e e s ssnne e e s nnneeeeas ¢ i Alea o) ) cdgan lap =1 ¢
Still

AalS gl 00 Gl ASEIE Ay Copd S (o Jad Ay g adely Mg J) gha AS Sl I KL g 0352 MOSLaS" AalS () ina
W80 0 S Ay hla b cfla clla g0 )3 o ) J
Examples: The woman still lives in that old house .
They still don’t like to leave the city.

.................................................................... LS LS S Gl 3 A A e gida lSlas ) =)
............................................................................ S 0 480 1a gl Ly g )i a3 (ylSLaS La= ¥

Any more

(o) 00 i gila ) alad) Lal 02 e alad) ALEXE 53 AS IS o ad Mgy e NS goa g " Ay O I g 3akal (e
_&ﬂu\o\g&éa‘g‘;él{_ﬁ‘).\‘ggﬁa‘él.h‘\.he‘).\c)lkm\@idﬁ‘)ls

Example: | don’t smoke any more . ( ........... I smoked before . )

........................................................... by ) i ol8dig b o 4y K =)
........................................................ A S il Sy 3 1y 9 JKa =Y

Already

ol A3 £ &) g JUEE 3590 Gl ) OB O alad) AS WIS e Aad alayg sy Al g ol "SLE" AS () Sna
) (o) Jad g (SaS Jad () al Jad ) OB Lg Alaa (Axd o5 S (sledil 0 g e W Alaa o o) oKl
Example: We have finished their homework already.

They already have an expensive car.

.............................................................. al o 1 S o Db La =)
........................................................................ ) oy M Lgl=Y

Yet

C)..j\_JJHJLB:H'\JJJAOLA}&M.\H,UJ@&)QC\SYJ&LWQLQMA%JJJ%JEQ‘\SM\"J'JJA"MSQ:\\Q’J?.A
_m\gﬁe‘gﬁ‘éL@\JadaﬁﬁJ\ﬁdﬂ_Jﬁgnoagéjglg,.d‘u#éu%)d%
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Examples: They haven’t arrived yet .
As yet , they have not answered us .

........................................................................ ) 0350 Ja )y Alia oof gl Ll =)
....................................................................... Con) ALEES Gl 0130 3 93 ) e =Y

Used to

Cle JS Ay ABE3 (la ) d AS XS e IS aladl YA jdaa o Ad) S J8 B R )8 L g ) LY QS S ol
g el alad) 508 Ja glaj U Ll oadi a aladl
Example: He used to smoke cigarettes. (......... He doesn’t smoke cigarettes now. )

............................................................... S o B Bl alily g =)
................................................. pdil oA pa (i AAGUS (o 3 Bl (e =Y

Be used to

. .U...SUAQJJJAQ.\LGJOJAJJJM@L}‘?QJ\ASJJMLﬁJlS)gCJ\JJJQu\"Qﬁ\.\ﬂ.\b"&,\éﬂdﬂ\fﬁ.ﬂ
Sl S 5 Gl ) g (sieaa anad) a) Jad @) gaing

Example: | am used to getting up early in the morning.

............................................................................... Al Gl S i) oaly 4y =)
............................................................ S ugd Q@A gl uhade b rmall= Y
Get used to

b 2 A ) gua sl 43 O (5 000 £ 8B AS 218 g IS aladl N g Cud M S e G S Gl p s
Cal (pMaa al) Ling S A gl ) g al Jad @ pa

Example: You should get used to getting up early.

............................................................................. 28 LRI A e Qlgd ) Gad g agy 4 =)
................................................................................. QS Aa) & Gale ol cb pa (A S 8 A=Y

Had better

2 S 5 31 S8 ) #1500 L 8 oa IR e s Ay ) 0B g 0dss i) Jigd™ QS Ol psirhe
A0 S A I S S )3 AS (Sl IS ) e b g 1o JRd A ) Ll s g 0a s

Example: You had better answer his question .

........................................................................ QS Ay g Ja o)) S ol g =)
.................................................................... LR Curad) £ g ga (ol A Cod g =Y
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Would rather
W80 0 S A Jlaa Ay L ab g el 09 8 L ab AS Canl "0 a8 S S () pggde

Examples: | would rather tea to coffee.
| would rather go on a picnic.

............................................................................. AR o g 1) 1 0 g8 (lald G udigi =)
.................................................................. A LaLad alid U A0S U jA%w) 53 283 e g i ) =Y
............................................................................... Al Al 3 U g Al 4y 2 e S5 =Y
Intensifiers W oali€ aads
LS e 2085 1 Ll Ol Jae il Gilialy 38 A1) jaalyg ASEIN (53 3018 el Ay ASATLL (L AalS Ly pANS 005
So - il

) aiiins A pad ()5 Cilad AS ol 5L 09 8 ) At () U3 1) s AalS (), Caad " RS A€ 0l e
Jala O sie Ag 1) aalia (g b g Adad S 308 Alay 3 0aIS Wil (b K )8 | A e MAdS ) 438 S 4y
;.s),ulsgehﬁjg:yséum;,:ﬁaé\ﬁg\ﬂg.abus‘y\_ Aju‘;agjjﬂdg.\&ﬁ&\

somany / somuch / solittle / sofew
Example: The child is so young that he can not talk .

_4‘9,1&\35‘;@.45\d,émﬁgigﬁ)ijﬁdueu\ga\ﬂm¢\#w&\aﬁjl$c')ya,4;;h

Example: so good abook / sosweetanapple

..................................................................... AL L Gl Al g e AS ATl diaigh ARl gl =)
............................................... S i AalS S 2 g el s AS Gl Ciad et o a8 ) =Y
Such - <

D)8 AL o) sar ?M\QAS.\.'\S‘;AJ:\M‘;M\ s 058 ) Add of a1y Cibia g Cund "QU%JY"M.‘SQA“\@.'QA
Wb o BAGE Jila Gl g Ay ) aala (g 0l g Aded g 3 Adea 0 0218 WS () (3 £ eg. such
such aman / such an apple D9 (0 U A L ad by AalS Gl

Example: He is such a nice man that you can ask him anything you like.

......................................................... AUS S0 Lk Ay 0155 (g 4 4S i sk o] (i Ladi =)
....................................................... Coa) ABEN | g el Ay ) e (U8 AS Gl Al gl adf (s o) =Y

Too-¢
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alad) (LSl AS XIS (e BdS gan 3 1y O clla il by ad 51 8 08 % 8 L g cud Maa ) Gl 4alS () na
Al ol (odle 0ALIS Al () Ay Jild (rmad Agg 3 (o0 O IS (Ul B O laia JalS juan JS 4y 4S-ab
Example: The child is too young to talk .

aia Gl 53 add Gl QS (San i (uadidia aual & jua (gl al ) Jad Ay g ) i b 38 BAdE AS (a0 1 ST
QB o AS ) ddea Jgrde Al s Gl 3, 308 (e 1B Juaa ) OB (o) ABld) dija a9 8 Sy Gl i
W IS A plaa ) Gl 0adi b jra Alay ol

Example: The shoes are too small for Jack to wear .

...................................................................... 9, 00 Al AS Sl as I G A e O =)
....................................................... i gt AS Co) S 98 2 ) o (e 61 W QS () =Y
Enough - 2

A o BAET (g 03I L)) Ll (g Aapd clla cudua Uy a8 ) ey (88 8 ) B L gl AL aa 2™ AalS () ra
AT ) e Ay AalS (gl Gl Ugied 3L g el Gl A (e JalS jeaa IS 4y O ) (g 4S lad g 4S
g o ASALLE cufia It oAl

Example: The child is old enough to go to school.

A e led 4y Glia S5 ag) S A ad Lol jed (olgli A g Gilia (g0 AS T gd AalS )
Example: We have enough money to buy that car.

aaia Alla 3 andd (b 3l (San (radidia and B a5 ) ) Jad dlg ) Gla b A8 0035 A4S A a0 1 SN
Jold lld )3 48)) Aden Jgrde b clla (il 3, 28 (0 B Jiiaa ) 0B () Adla) a0 S G B
W S A plas ) drg Gl 00 8 pa adaa

Example: The shoes are large enough for the men to wear.

............................................................ AIS Ja ) JSia () AS a4y il BUS b 1Al 4y (e =)
......................................................... i g AS Gual K50 A8 03000 4y Ladi () G () =Y

Aerda 5 Jold gla cda Present and Past participles

el g (& 98 4 Ll il g Al Jad 3 Ady ) Lubad Ll o ggda 4S dited (b Cla  Jgrda g Aol o Ciia
Sl gald Al Ay g Jadly 4

The wolf terrifies the children. Al a1y W Ay S8 S da g dlaa () 4
‘;\u‘ "‘AJL""J:(;‘"“.MJLS . ||u4*||3|1d;&|"3;45 2 C).'«“J‘:

Jerda o 4 Al u&a.\yugislém.\ﬂgaga,g (Qﬁuﬁ—&éebj! B ):\)MA%&&JJAS‘“’:ISIA
W giea 0l (A gria Cdia il e Gy (O S -dad B cad ad adl g ) )dden
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Present participle : infinitive root + ing
Past participle(regular verbs) : infinitive root + e d

The wolf is terrifying . G gl cadiag K K
The children are terrified. L Ad 00 Cada g W A

_dﬁgé}agij\w‘ggiyi,amua&Lﬁﬁb.b\d);lgab.& 1) (Hrda Chia Jale ) 8 0 Oninad

The children are terrified of the wolf. S Cdia g K £ Gl Ay
........................................................... 33800 )y da ABle Silaliagf=)
............................... Gl lla Sdaliag =V
............................................. pdladdle Soiuliag 4y (e =Y

Relative Clauses (Js<ase s o9 4daa

28 B (o) AalS ) G Abalddl Ay dlay SO 3 368 (sl 3 oALIS Jua g AalS S (I L W 5 ) g Aday (il
Basa s o) g Adad Cu) iy sl AalS £ 5350 W o) g Adad (il o gua ga Aals, AJAJ:\A&A.AJ:OTDJL.IJJ‘\S
M ida 5l clla o ASaig a8 Ay (J 89 Cadle () s sty (D89 caadle 53 () s LA (RS 93
) (ki Jagd el slgacd ) un W o) g Alan (Cpl Coni s WSal ilina JBlad ) g o alyy 3 algal Eioly Alan
(aed pdailSal 0 9 8 grdan p3 W o )9 Adad (il (RS (il oS g S Ay S g (90 iy (A 55)
el Al o) g Adan (ol Jladdily sadd ald s} Cn s 48 oA = A grda clla 3 ga ga AalS Cida

The girl is my sister . The girl is studying her lessons.

The girl the girl is studying her lessons  is my sister .

The girl , who is studying her lessons, is my sister .

Dr Brown who agreed with your suggestion lives in this apartment .

The man whom | met there is a dentist . The man | met there is a dentist .

RS ol 00 aly plaa sla 4y Ja e GART 2 that 4alS I 01 g5 e 1 ST

............................................................ LS G I badi IS L) 6 o il pa AS | (Sl =)
............................................................ Gl (0 S 3 Gl gd J) (52 35 (o0 pd dla A4S 8] =Y

Reduction of complement clauses to phrases 538 4 (aaia 5 0l 5 4laa (ialS

radioa o\gﬁ@&h&dg@#jtﬁ@@\dalsgéJ\M\&bJJJ\@W‘M&@M@M o) 9 Alaa

e by Aals o) alan 93 JA Jeld g lse a dag pdia ¢ ) bl Aadlds 5110 W b)) g Adaa -l
_M\M\JOJU‘L\QQQM?&gAJJgASLA@A*'D.U&@JSAQA&MJJ&@LJMNM\JOJ\JM

Example: While | was walking in the park, | saw my friend .
Clause reduced to a phrase: Walking in the park, | saw my friend .
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.................................... P‘Su“"#dﬁ‘f@“tﬂ &‘yﬁngJaadﬁﬂ?&jA:\
...................................................... A8 1 1) Jgr QWA dijh o 4y i) A58 =Y

u..uhk:u‘5ME\@\DJ\JMQJJ}&GQA*QW*LJ@: &AEMW@UM@M o )9 Adaa -
_AJJ‘;AJISQJGA.LUW&E&Sdﬁa‘j\wjoﬁdhwuggOJ\JMAQ&;GL)DUAA

After he had learned English , he went to England .
Clause reduced to a phrase : Having learned English , he went to England .

...................................................... LA IR ) Gadila O A8 Jgy 08 S Gy b =)

..................................................... A8 Sl AL el U Qg dalldaa ) Gy =Y

.................................................... LS LA ¢ 92568 Al 65 e QLIBT3 S Al Ly =Y
o~ Jad)  Perceptive verbs

A e o) bl ) LT 36 Ll Gl g CSaS 4y Jolb AS T Juad) ) Al o s Jlad)

HAL&AQ@JUAQM\AJH:LJDUMQJMéMA'JQJ‘MJJQJJJJ‘;AJSQ"AJUALJ‘WM&M‘N
Pl ) g Ay g Gglita

(ol 038 iy o o aladl o)) 1) Jad o A, Jeld AS 3 0a o AN 1 a Jld) ) 2y jhaa Al ) -l
Example: | was in the bus stop . Mr Brown left the shop. | saw him.
I saw Mr brown leave the shop.
........................................................ QS JIUSS, @l Adan A4S aid (e =)
.................................................................. Ak o g HBUS 3 ) g AS | L) =Y
§ Adba 3 AL O (o) 3 A1) Jad gy Jeld AS apla O o N 1 s Jladl ) ang Jad (g ) e g -
Sl 038 il o O G s 9
Example : Mr Brown was waiting for the bus . |saw him.
I saw Mr Brown waiting for the bus .
.Gl g JSd 4g o) gan Jad IS smell g find Jlad) ) a1 SXS
We found them swimming in the pool. I smell something roasting.

..................................................................... pad S LaLa Adllag, JUS (0 S g3k da o 1) edl =)
Al e s g) cudia As alld =Y
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(e SaS gla J2d Modal auxiliaries

W T A1) ald (Sofg ual oW Jud L o) b L AS 398 e (D) SaS Jlad) ) A O Ay Qe
Wy S A e A JalS (5 Alan S o Al g el K ) Jab 4y asiiene Kieal g b 45 La) AiSS
D) AL Gara (SaS Jlad) (58 S

will/ would / shall/ should/can / could / may / might / must /oughtto
Al [ L&/ oabl [ul AS ML [ (el 6 [ () 6 [l GSanfi) (San AL [ b
Ty o S A (ra (SaS sla JaB Lol e ) oAy g IS 93 4 () Jlad)

AU oAkl Gla) s N s A gline aulii 4y (e SaS Jud b gl A e pdeaa (o Ay JSG— Q)

Examples : They will apply for the visa . L SAA gA 1 3a g Cacad 6353 gl
They would ask you to help them. (S LSS U dia) gy ¢ ) Al gl
We shall finish it within two days. 38 Al ga aldd jgy 93 e il ) O L
I should complete the painting A8 JalS ) LAl O Al e
I can lift that heavy box. S ik ) e 5 dma o all g e (e
He could pass his exams. 39 Jed LAililatia) 3 Cudl gl gl
He can sit over there. L by L] (302 0 ) ilgE )
You could leave the class. B9 U oS ) (20 o la )l 5 a Ladi
He may answer it . L ey OF A (09 0 Sl ) il (San )
She might take another piece A0 a8 (5 AT Sy (UM o Jlal) ) (San )
You must obey the rules. LS 5 g m Gl e ) b Led
He ought to return the book soon . A8 )y QS a9 b )

303 N ALEE e sl Jad JalS IS (it SeaS Jad a1 pah 1 J2d JalS (e ) G —

Examples: | will have finished the job by tomorrow al 838 alad |y IS fla 21
He would have left there Q&L 03 S S 5 1 ad) Al
We shall have arrived by tomorrow this time. A oy aBga Cpl 1o
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We should have left there earlier. A S I T JRa g3 ala(al 1)

He can have paid the bill. QAL 038 AN 4y ) Gluad ) gua Xl g a(Sl)

She could have forgotten the key. AL 0a S gl B )y IS Al g e gl(Jlaial)

They may have done it. AL 0313 alad) 1 o Gl GSan gl (Sal)

They might have broken it. QAL ASS ) O ol (San gl (Jlatal)

He must have visited him before AL 038 cildMa | Ll S by g (Laluii)
You ought to have cleaned it. LS (o a1 O A (a1 3)

Hyasa s ol Adax Al Reduction of relative clauses

QWYJQLJJ&A—mgm‘d&&&‘éjﬂyw&‘4\95‘5\5.'\:1‘).}45&%‘94&5& ol 9 ddaa ) Adwd o)
:.\.'UM\JOJﬁ@@u@ﬂE%lﬁﬁjduhﬁj\‘;ﬁﬁg -.\.'\.'\Sd...\mﬂb(uaﬁ?u\&“ﬁj)eb?u‘

AL o) pad (5 ) il Jab g DA gy Jad b (Jgaga e — )

AL o) pad (Jgrda lia g Gag Jad b (Jdpa e e -

AL o) pah el 09 8 Sg g (s S b Jpase s -7

D9 pa il (g J2b ol pad (Jguaga et lla du G) ) Sg R 0

W80 0 IS Ay siaa an) (S Ay b (g ge ppad dida b g Gl 3 r Jrd Lol e Jaage e -

Examples: The man who is speaking English.................. The man speaking English...
The man who was seen in the forest............... The man seen in the forest...
The man who is at the door ...........ccecveuuenene. The man at the door ..........

A man that repairs bicycles .................. A man repairing bicycles............

2 A1 g5 e gy AalS Cida Ly 2IEL (lsar gl o g Adan L Jeld Blad ) AS caaia Al g W b ) g Alan
_ﬂ\éﬁdﬂﬂbjﬁchu

Example (a) : While | was walking in the park, | saw them
Walking in the park, | saw them .
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Example (b) : After | had written the book, | revised it .
Having written the letter, | revised it .

............................................................... ol Cpa S 3 S g (S LAlES Jla 3 3 5a () =)
.................................................. aliea L GBGlwas 50350 L 038 Cusva Jla )3 palddl (o) =Y

.......................................................................... Colgd] alea ABALUS 50 00k o2 allA () =Y

................................................................. Culadi S 1520 94 g o3& s 0dS Luse of =¥
........................................................................................ Gl Ay 8 SG ) g3 590 Qg =0

Jsgae 4y Passive voice

C A Sl olila ol g eadi A ra b Alaa Jol Ledl 0 AS Gl (ol Alea 4 b e Jsgae Ay
(i) K Jab S 5 a5 Jolh S5 1 B o 4S oo pslen s Alas S g s Alas b il
P ET YY) é&d@é\ﬁ@@ﬂ@ﬁ@hﬁf&}ﬁaéu Gll gy Maad | Gl s Jasa

_Jﬁg.ad-awb ﬁﬁuA-),deﬁAd.\hg Mdﬂ@—d@}éyw‘%\)d“éjé‘jﬂiw

Jdsgaa s adax il Ay 8
Tl ) AL 8 L Gildae aglaa oW Adea ) Jsgae W Adad cidla

Cladd [ Jad e g Jad [ (asliesn & g adiiena) Jgrda [ JolB 1 Jogae An g il pa figa 51 ) Cpat -
3 s Adaa Joldoliila o old clla o (s 1 b aofiiens) Jgrda Al -
O ) J Jold g aglaa (5 Adaa e b qualia "0 03" J2b s -

el Jad 4 hag e (S gria G o g ls.
MMJJQ\AJQ}SA’M@M&&JSSQJMJJ-
(Asrda cilia G G O 208 clla a8 2ga g g Mg S -

Example : He will give her the flower politely .
The flower will be politely given to her by him .
She will be politely given the flower (by him) .

................................................................................ 303 Jagal gl Ay Al g3 A3EXK ola =)
......................................... cid S aa)gd 8 L3038 35 0a (il (IS Aad 5] g) Aeda Gl =Y
...................................................................... 4103 Glulad 4y 0 ) gida O )3 Al g8 e ald ol =V
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................................................ Cocal 438K I8 13,08 3554 00 5ak 8 9a () 3 Lad gla (EDG =¥
...................................................................... A8 )8 G pedala GBI 3 ) 9e Ll 3895 Cn) =0
................................................................. A5d oa 0303 agad ) A Ay S AR R Y gara =F
.................................................................................. sl 0 fina ad] g) AS 29 e 4G =V
................................................................................ Qg 0213 LIAdA 3y ga O Y 9) Ar Al =A

Nk AGALG UK Ly ol&ala )3 LT =4

............................................................. Conad 0045 AN La 4y (s 5un b £ gaga (il o 3 =) s
bl s 4 Conditional sentences

B dad g a5 4a hagia Jab G alad) Ll ) AS 39 (e ATEE L Aley ) A O 4g (s sl Al
¢ o9 Adax 5500 g(hyd g ol Alan) Al g (s 009 Alan (Su A4S ol g Adaa 93 ) b g ddax a, Cud
S L ddla SR 1 Ll s8I Ay 1S5 (on AS 25 (oa Bt Caal (B i 32) bl

P9 oa a0 g K A Ay £ B9 Gl BT 1 da s sla Alea

Ry Ol Gl s o) g s
Jalaa i 1 agd £ ol Gl
OSan g by 1 p g £ 55 Dy

b5 e Ll )3 Jad a5 lSal g ASdla N3 sl e L ad ) A Gl 1 J) B8 W (b
Gl Mol (5 021" Ja i il g2 (5 09 Adan Jad (lajg Meabu JM LT pa ka5 00 g Aday Jad (e,

59 A 3 Jad i e ) adid bl Gl g g ol g Adan Jad g g (Kl AS oy s Alan ) Ad ) a1 SXS
Sl ol Ja la g Bl g gl s ol Adaa

Examples : If you study your lessons , you will pass your tests next year .
If you heat water, it boils .

.................................................................. N3 AR G 3 Uad e ] Ay S) =)

........................................................................ M A5 EI A S s 5 )5 il B S =Y

dmy g oS e Ll )3 Jad kg Jladal g andis Ve dla Gla) W hapd ) Al G 1 a9 £ 98 oW
L ol Mol (5 ATEXE 3 sl Alan Jad la) g Modb (o ABEXE" Al () o Ja sl 5 0l Alan Jb (e, Cad

Example : If you studied your lessons now , you would pass your tests .
If | were you, | would ask him to come .

.................................................................. A a (ldialadin 038 e Gl i 3 S) =)

................................................................... 2l Fluae i) A S gl go) &) =Y
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A0 392 g 50 LedT o Jad alay g (el AS X 10 s ASEX (e W ) Al Cl 1 ages B98 W (Ao
o) " alS ALEAE Ha sal™ el da i ) g 0l g Alaa Jad g " JalS ABEIE"™ A oyl 3 Ja i o ) g Adaa Jé ol

Example : If you had studied your lessons last year , you would have passed your tests .

..................................................................... Al ga odd (B ga (g5 08 S (LiSas S =)
................................................................... a2 833 B33 LT 4y adla i ) =¥

g.'w.oa@gbﬁL5M.‘Sj\gﬁaﬂ)‘gmj\DJU‘JAQQJJSGJEQQUS‘,A‘#A&)&@QDJ\JMA%JJ-\ JSSS
ol Cofia 0 ) gad dday o yd (5 AalS Cpl ) dmy Cudy Aa g8 b, 38 sali) AT S

Example: You will not pass your tests if you don’t study your lessons.
You will not pass your tests unless you study your tests.

......................................... S 1 O 1R A B ASTT K 313 ) gA g1 Ay )y UiS =)
............................................................. USSR alad A4S K 0d 2135 (ghga =Y

éMSbJUMA@@\ﬁg\@&&édﬂﬁ\lﬁd\ﬂ@a}u&jé&&ﬂ)é&gbé& o)y alan ja .Y SN
_Jﬂdhb\)bﬂ-ﬁ@)dbbﬁ

Example: If you had studied your lessons , you would have passed your tests.
Had you studied your lessons , you would have passed your tests .

........................................... il 028 S S Ae B 0 Al g s g9 038 SN AS ) J gy =)

..................................................... S ) S 5 D ) i) 5 g (5 3¢ 0345 4S alailas) =
@118 B Gl g Adan La) 02 g JalS 43X (e ) g) gla da i ey o) )3 AS 303 g9 i bk e ST SN
b 1 g A £ ) 8 Saa i W i o g8 3 Gl Wl ) B s Gl el b AGX 3 o) (e
el e S 0 sl

Example: If | had not spent the money, | could buy the bicycle now.
............................................................. A9 AR JAN Ay adiuadl g5 e Yla (53950390 |y 1S &) = *

Wish

) Saa i g g e by SBT3 9e Jad 2 g AS O Rl 5 ca) MOEIS™ e 4y dalS o)
1380 g ol (¢ 4B Glaja Jad e b s la) Ag da g e b e (5L 9300 AwlS G 30 S - )

Example : | wish they brought the box with them .

Example: | wish she were here to help us .

.................................................................... s Glalabia 5o K5 Al S Yl il = *
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13 g JalS (o AL Gl Jad e b AL (e 4y g e S (5L 9000 AalS (i lS — @
Example : | wish | had arrived a little later .
.................................................................. plg 033 Fuly (5 iy By LW g ¢ Ay LS
LAd e Gl ) JYe alilea sall e g es sl gl 1 ST
Example : | wish you would slow down .
................................................................... Al Le B4 il S S =%
= 429 Causative voice
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Sentence: The barber cuts my hair every month . :
Passive causative: A= have my hair cut every month .

B= | get my hair cut every month.
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Examples : | have the barber cut my hair every month .
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| get the barber to cut my hair every month .
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Js8 Ji sl 4laa  Reported speech
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Example: The man said, “ | want you to help me with my problem in that company .
“I want you to help me with my problem in that company . “ said the man .
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The man said , “ Leave the room immediately! “

The man told them to leave the room immediately .

She said , “ Please don’t answer the questions hurriedly . “
She asked him not to answer the questions hurriedly .
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Examples:

He said, “ | want you to help me with my problem in that company today . “

He said that he wanted her to help him with his problem in the company that day .
They said, “We will go to visit those beautiful places in that city tomorrow. “

They said that they would go to visit the beautiful places in the city the next day.
You said, “ | spoke to my brother here yesterday . “

You said that you had spoken to your brother there the previous day .

She says, “ We can stay with her until he comes back . “

She says that we can stay with her until he comes back .
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Example : She said, “ Do you like to stay in my house for a longer time ?”

She asked me whether / if |liked to stay in her house for a longer time .
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Example: He said. “Who do you prefer to visit tomorrow ? “
He asked me who | preferred to visit the following day .
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Examples: He says, “You had better agree with them. “
He suggests me to agree with them.
She said, “You should first get a ticket! “

She ordered me to get a ticket first.
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work : Work (please ).

i) Alaa a3 JalS Jab gt 0 2C e N IS alad) (ha) g S alandl s AS cuad (g) 4alS 1 Jab
D agd o o 098 99 3 Jrb (A9 il e e S ) -
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work+ed : worked arrive+d : arrived study+ed : studied
_M@\J&\ﬁ@lﬁd&éi O (A orda a9 ALEXK (G Cllu ; sasld o Jd) :
bring : brought , brought write : wrote , written cut:cut , cut

D agd e o 098 93 o3 Jad Jsada iy kT ) -
LAl Jgnda 4y AS ) ad ;M ORUT G a3Y Jad s
go, come, sleep, sit, stand
pifiena J gria 4y (lajab (AR a5 ) arflicsa grda 4y Uiy AS Cual (flad 1 "M Ly gaatia Jab ;o
L0 S ( piisa e Jada
clean, wash , solve , buy, repair
S dlaa ) anad OF 34l (Ao g anad 31 OB (8 8 1A Ly el 3 AS Gl () AalS ;i
SR e anad O Sdla g CuaS g
SIS e O 1) and clla Udas ; cudiS Gda
beautiful , happy, quick
B oab) (513 Cmn i 9 (a9 8 52 2 9 S e (w1 el S A Ly e ¢ CuaS il
W5 g Glbed B 2 9 Giled
DOkl BB el (el (haS (sl il Siage
little , a little, some, any , much, alot, no, none
Dol BB bl (rall AnaS (sl i flaga
few, a few, some, any, many, alot, no, none
_.L'\Sunuéj.nb@u\cﬂgﬁu-uﬁam
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my , your , his , her , its , our, your , their ......... (noun +’s / noun of noun)
W e Al g O ol pa o ) arg B 8 B L YperedS ) (o) AalS T 08
R pdiaa Al cilla il 4y 2 gauy 39380 L Lidee 9 28 o0 Oy 1) o g, (K8 1 clla 0
beautifully , happily, quickly
SIS e Gl 1y Jad A 1SS al Jad ) J (S )8 1 el ) ST 28
always , usually , sometimes , seldom , never
WS e Gl 1y Jad Gal s 9y Jala ;e a8
... SO0 that , because ...., to infinitive ....
LA e B ra ) dad aay gy alBir 5ol i At e g WS 2
at school , in the evening
pgal 50U pulSad) — (Jpaga — (Sda — dgrda — Aol plada 1 IAD e g 0k ad Gadiila ylana
el W e
lI,you, he, she,it, we, you, they
D Aede plea
me, you, him, her, it, us, you, them
D aigd e O Lol par (Sla a9 and (Kol e Gl 1 Sde e
mine , yours , his , hers , its , ours , yours , theirs

D Hsas sl
who , whom , what, that
D pe slaa
one, ones, somebody , someone, everybody, everyone
26 2SU/ lSad) laa

myself , yourself , himself , herself , itself , ourselves , yourselves , themselves
1S e IR ad o g 8 (slgll) a5 Jold lanily AS 03 S Sl dlaa a1 Jold Sl ek SXS
I solved the problem myself . I myself solved the problem.
RS 4 With Lo ¢ Slilala g e \S 4y puilSad) jpada J grda (o) iy (S Jsaia g Jold 8) : SXs
He saw himself in the mirror .

31



www.takKpbook.com

Pronoun €hart

Subject Object
Pronouns Pronouns
1% person 1 me my mine myself
you you your yours yourself
he him his his himself
she her her hers herself
it it its (not used) itself
we us our ours ourselves
you you your yours yourselves
rd
2 heloh they them their theirs themselves
(plural)
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